n Kn Fn
1 %|A0\2\M1(m1)\2\/\41(m2)|2 cos® 01 cos® 02
2 ﬁ\AH|2|/\/l1(7711)|2|./\/11(17’L2)|2 1 sin® 01 sin® 6 cos® ¢
3 %|AL\2|M1(m1)|2|M1(m2)|2 1 sin? 0 sin® 0 sin® ¢
4 |A||||A0|cos5“\./\/l1(m1)\ | M (ms)|? 2\1/5 sin 264 sin 2605 cos p
5 0 —# sin 261 sin 265 sin ¢
6 0 —% sin? 6 sin? 5 sin 2¢

2
7 gl 4 ‘AFL' )M (ma) [ Mo (mo) 1 cos? 0
8 - A || Ao|Re(e®s M3 (ma) Mo(m2))|Mi(m1)[? —% cos? 01 cos 02
9 fFL|A ||AH‘R€( gCh _6”)/\/[ (WQ)MQ(MQ))‘M1(TR1 ‘2 —% sin 201 Sin@zCOSLp
10 L 2 JAT AL Zm(erC =50 M (ma) Mo (m2))| M (ma) = sin 201 sin 02 sin
1 S |AT [[Ass| Re(e" _5“)/\40(7“1)/\/11(7”1))\MO(m2)|2 375 cos b

+
12 1=+ ‘AFL' )| Mo (mr) 2| M (m2)]? 1 cos? 0
13 fFL|A || Ao|Re(e™s M5 (m1)Mo(m1))|Mi(m2)]? %COS@1COS292
14 |A [|[A)|Re(e"® =210 M5 (m1) Mo(m1))| M (m2)]? %sin@l sin 265 cos ¢
15 \%ﬁm*“Aqu( RIS ) M (ma) Mo(ma))| M (ms)]? 7% sin 61 sin 26, sin ¢
16 %ﬁlA HAsise( 1057059 M (m2) M (m2))| Mo (ma)|? — 525 €08 02

+

17 (I ‘ YRe(Mi (ma1) M (ms2) Mo(mi) Mi (ms)) —1L cos 6, cos
I8 £ AP TMo (mn) PTMo(ma) 5
19 |ASSHA0|R6( Wss M (m1) M (m2) Mo (m1) Mo (msz)) —2 cos 01 cos b2
20 FL|ASSHAH\R6( €' a9 M (ma ) M (m2) Mo (mi) Mo (m2)) —g sin 01 sin 63 cos ¢
21 0 ¥2 sin 0, sin 0, sin




